4 3 e 2 |

CLOPAY MODEL 3200, 3220 REVISIONS
HOLMES MODEL 240 REV. NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION
00 - 2/7/17 = — | INITAL RELEASE
- A win & OPTIONAL 24" x 8" DSB GLASS OR
E/—INSULATED GLASS WINODW LITES.
] I o TWO
( = VIEW ‘A" poiNT
- = LOCKING
|72 |72 |72 7] Vi
| an A A N = OPTIONAL ALUMINUM FULL VISION
A
| v v v WINDOW LITE SECTIONS AVAILABLE
bl # o |8 & o V Vi Y o Vi 7 T4 (1/8" DSB, 1/2" INSUL.). FULL
VISION SECTIONS TO HAVE SAME
e R T T T REINFORCEMENT AS OTHER SECTIONS.
C M M
| Jl I L\ I 0 NOTE:
m— . _/CENTER STILES ALWAYS 22" FROM
- CENTER TO CENTER. FOR ANY GIVEN
MAX. DOOR WIDTH 20'-2" DOOR WIDTH, DIMENSION B IS THE
/ \ STRUT PER SECTION LEFTOVER DIMENSION ON BOTH
. ONE 4" T-STRU ION. ENDS OF THE DOOR. THIS
(1) 20 GA. X2" GALV. STEEL BACKER PLATE AT i
EACH INTERMEDIATE HINGE LOCATION. BACKER PLATE (SEE SECTION A—A FOR DETAILS) ?'ME\'NSB'?.“ OV}’Q'LLLE';(S)TTEE\NGTENER
ATTACHED WITH DOUBLE SIDED ACRYLIC ADHESIVE HA :
TO BACK OF DOOR. (STEEL SECTIONS ONLY)

(4) #14x5/8" SHEET
METAL SCEWS V,

/

NUMBER OF ., |NUMBER OF
B —r—3 i1 DOOR WIDTH  |INTERMEDIATE DOOR HEIGHT “A" | 'crCrinns
HINGE S =
" N UP TDO 8°-0 4
(2) 1/4"x3/4" SELF 16'-3" THRU 20'-2* 4 8'-3" THRU 10'-0" S
TAPPING SCREWS 10°-3” THRU 12'-0" 6
14 GA. 14 GA. INTERMEDIATE HINGE 12°-3" THRU 14'-0" 7
VIEW E”t;il'? i VIEW "B” 14'-3" THRU 16°-0” 8
VIEW A MEW D 16°-3" THRU 18°-0" 9

MAX. SECTION HEIGHT: 24"

SNAP LATCH ENGAGES
ONTO VERTICAL TRACK. END
ONE SNAP LATCH ON STILE:

S SLIDE BOLT LOCK EACH SIDE OF DOOR.

ENGAGES INTO

\éElETICéI(_:KT%A,\?K. OUTSIDE
NE L HANDLE. . _ MANUF ACTURING PRODUCT CODE:
A ) s SlbE i6F  gispe | — ENGAGEE T PETEST Loabs: 1532 “i20 par MPC: C-DSIE-1F447
2 HAKNEJLEE? STILE. EESSKS%\E %rgls_sEthXrifC(EhSemse -I:IU 3 BRgh Bike, Boievad CLOPAY WINDLOAD RATING
ik GF BooR ol |y sl ST R W 4
-2/ " INSIDE? SLIDE_BOLT INSIDE HANDLE ooy e E = 4"(-) e e
ol . . LOGK/OPTION, OUTSIDE KEYED LOCK WITH QUTSIDE_KEYED LOCK WITH 600 = iogs |DESCRIPTION: WODEL 248/5260/
Ok O Lo e T 7 SNAP_LATCH LOCK_OPTION, LOCK BAR LOCKING. 0000 = +.001 |DRAWN BY: RUH DATE: 2/7/17 |SCALE: NONE  |pWG.
wgggggﬁngr#l%gg_.;&%/tﬁ'#23832 CLOPAY CORP Third Angle Degrees = *1/2° |CHECKED BY: - DATE: - SHEET 1 OF 4 [SIZE
TEXAS P.ES 491513 ' ALL RIGHTS RESERVED. | Projection @—EF DIMENSIONS. ARE IN INCHES.| DWG. NO.: 105198 VER: DI

4 3 -~ 9 :



4

/— 2x6 VERTICAL JAMB \
/

THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK
WALLS. ANCHORS CAN BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A FLUSH

MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAN BE ANCHORED DIRECTLY TO GROUT

REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS.

FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES

CLOPAY MODEL 3200, 3220 REVISIOINS
HOLMES MODEL 240, 240G REV. NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION
00 - - - - SEE REVISION HISTORY ON SHEET 1
HORIZONTAL (TOP) JAMB JAMB TO SUPPORTING STRUCTURE ATTACHMENT

r (NO LOAD FROM DOOR) NOTES:

1 ) 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO
v j\L THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS SILICONE FILLED CHANNEL SEPARATES

TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. Eg%? BIERTICAIé JAMB SEES A MAXIMUM DESIGN LOAD OF +250 LB & —280 LB. PER LINEAR FRONT AND BACK SKIN OF DOOR
JAMB.
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A "

FASTENER FLUSH MOUNTING SURFACE. =4 5" THICK

TYPE 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE ‘| I_
/] LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY. r .

1.95" THICK, 1# DESTINY EXPANDED
4-1/4" ,/_ POLYSTYRENE FOAM INSULATION
MAX. 0.C. NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER, LAMINATED TO BOTH EXTERIOR AND
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS INTERIOR SKINS
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1—1/2" AND INSTALLED DIRECTLY VIEW "D“ ’
a———

4" TALL TAPER STRUT.
0.062" MIN. GALV. STEEL,
80 KSI. MIN.

TONGUE AND
GROOVE JOINTS

W
N

24 GA. MIN. EXTERIOR STEEL SKIN WITH
GALV. BAKED-ON PRIMER AND A
BAKED—ON POLYESTER TOP COAT

APPLIED TO BOTH SIDES OF STEEL SKIN

=
b

12 GA. GALV. STEEL TOP ROLLER BRACKET.
EACH BRACKET ATTACHED W/(4) #14x5/8"
SHEET METAL SCREWS. ADJUSTABLE SLIDE
ATTACHED TO TOP BRACKET WITH (2)
1/4"x1/2" BOLTS AND NUTS PER BRACKET

14 GA. GALV. STEEL ROLLERS HINGE. EACH
HINGE FASTENED TO THE END STILES W/(4)
#14x5/8” SHEET METAL SCREWS AND (2)
1/4"x3/4" SELF TAPPING SCREWS. (SEE
VIEW A)

ONE 4" X 80 KSI X .062" T—STRUT PER SECTION.
EACH T—STRUT ATTACHED AT EACH HINGE LOACTION
WITH (2) 1/4"x3/4” SELF TAPPING SCREWS [(4) AT
EACH DOUBLE END STILE]. (SEE VIEW "D")

27 GA. INTERIOR SKIN WITH GALV.,
BAKED—-ON PRIMER AND A BAKED-ON
POLYESTER PAINTED TOP COAT
APPLIED TO BOTH SIDES OF SKIN

T e 5 12 GA. GALV. STEEL BOTTOM BRACKET. ATTACHED
DISTANCE  |STEEL WITH (4) #14x5/8" SHEET METAL SCREWS.
BUILDING TYPE FASTENER TYPE ?AE;TWEEBEENRS' \géSHE?RESm
UIRED?
HOLLOW BLOCK WALL 1/4" x 1-1/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 6-1/2" 1”_0.D. ALUMINUM EXTRUSION & VINYL WEATHERSTRIP
GROUT FILLED BLOCK WALL |1/4" x 1-3/4" MIN. EMBED ULTRACON CONCRETE ANCHOR 1" 1"_0.D.
2000 PSI_MIN. CONCRETE | 1/4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 9-1/2" 1”_0.D.
2000 PSI_MIN. CONCRETE | 1/4" x 1" MIN. EMBED TAPCON CONCRETE ANCHOR 9" 1" 0.D. SECTION A—A (SIDE VIEW)
', 12000 PSI MIN. CONCRETE 3/8" x 1-3/4" MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 20" INCLUDED
*, [4000 PSI MIN. CONCRETE _ |3/8" x 1-3/4" MIN. EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 24" INCLUDED
%vooo FRAME((SYP 0.55 SG) 1/2" x 3" LAG SCREW (ASTM A307, GRADE A) 1-5/8" EMBED INTO STRUCTURE 21-3/4" : 8-8-
©_|14GA STEEL (0.060" MIN.) [1/4"-14 x 1" ITW BUILDEX TEKS SELF—DRILLING FASTENER g" 9.0 MANUFACTURING PRODUCT CODE:
L[12GA_STEEL (0.105" MIN.) [1/4"—14 x 1" [TW BUILDEX TEKS SELF—DRILLING FASTENER 16" 1" 0D. DESIGN LOADS: +25.0, -28.0 PSF MPC: C-DSIE-1F447
(178" stEEL 1/4"—14 x 1" TW BUILDEX TEKS SELF—DRILLING FASTENER 19 " 0D. TEST LOADS: +37.5, —42.0 PSF
*2FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON—CENTER DISTANCE. HIGHEST ANCHOR INSTALLED Unless Stated Otherwise | (il [:I 8585 Duke Boulevord CLOPAY WINDLOAD RATING
AT LEAST AS HIGH AS THE DOOR OPENING. TOLERANCES ore |yl Upay ?e?soﬁd %I?Ji%%%%gg \/\/ 4
(- GLOPAY DOES NOT SUPPLY JAMB ATTACHMENT FASTENERS. 0 = +.031 Building Products Company Fax No. 513-770-4853
© . MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2-1/2", EXCLUDING STUCCO THICKNESS. : : =
2. .00 = +.015 [DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 20'-2
.000 = +.005
. K NS E 0000 = +.001 DRAWN BYS RJH DATE 2/7/17 SCALEZ NONE DWG
MARK WESTERFIELD:P.E. .-~ Degrees = *1/2° V.- ATE: - T 2 OF 4 |SIZE
FLORIDA P.E.. #48495, .NC 'P.E. #23832, CLOPAY CORP. Third Angle Unless Stated Otherwise Calich PR 2l =Ll
TEXAS P.E. #91513 ALL RIGHTS RESERVED.| Projection DIMENSIONS ARE IN INCHES.|DWG. NO.: 105198 VER: T0I

4

“

2



4 3 e 2 |

CLOPAY MODEL 3200, 3220 REVISIONS
HOLMES MODEL 240, 240G REV. NO.| ZONE: DATE: ECN NO.| APPVD: DESCRIPTION
00 = - = = SEE REVISION HISTORY ON SHEET 1
ANGLE_MOUNT JAMB CONFIGURATION
2" TRACK CONFIGURATION. 18 GA. x 2" X 1-7/8"
ggggggTTAéYng%’; BRACKET MOUNT JAMB CONFIGURATION x 3/4" GALV. STEEL 2x6 SYP JAMB (IF PRESENT;
JAMB CONFIGURATION INTERMEDIATE STILE SEE JAMB NOTES ON SHEET 2).
INSTALLER (TO SUIT). OPTIONAL STOP
DOOR FOR DOORS WITH 2" TRACK. FASTENED TO DOOR
NngRgouBLE TRACK LOW DOOR COUNTERBALANCE SYSTEM it P MOULDING BY EtEED o Do i —
H OM, HI-LIFT TRACK, - - : . — = = INSTALLER (TO suIT). SYSTEM AT TOP, BOTTOM| OR REVERSE ANGLE. 12 GA. TRACK
EOFEONCTHE= BOCF 6 =61 J0 ' CLIPS ATTACHED TO WALL ANGLE
TRACK, AND VERTICAL LIFT 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 7-0"] 76" . " . AND EA. MAJOR RIB. .
" e an e 1" DOOR OVERLAP (EACH SIDE) —| |—/ 16 GA x 6" x 1-7/8 WITH TWO 1/4” RIVETS PER CLIP.
TRACK ARE AVAILABLE JAMB WITH (3) 5/16" X 1-5/8" LAG SCREWS 7°-6"] 82
N —2 - GALV. STEEL DOUBLE - TRACK CLIPS ARE ATTACHED TO
OPTIONS. AND TO TRACK WITH (2) 1/4" RIVETS. 8'-0"| 88 2x6 SYP WOOD JAMB p "
TRACK CONFIGURATION A L= Ok ,, S s o e END STILE FASTENED 1 TRACK WITH EITHER TWO 1/4
ABOVE THE DOOR OPENING = g,—g,, 188,, i o%wTE E WT'T#OLOGQOLT_TLOC SYSTME i : RIVETS OR ONE 1/4" BOLT AND
DOES NOT AFFECT THE o AS RQD: SPACING NOT TO EX 14" 0, e - : % A : OM AND ol i NUT. FOR WOOD JAMBS: ONE
WIND LOAD RATING. T SAREEEL 9 —6 1106 CENTER. . L > | 5/16” x 1-5/8" LAG SCREW AT
& 10-0"112 = i = EACH TRACK CLIP LOCATION. ALSO
3 58" 2" GALV. STEEL TRACK 10 -6"1118" 2-1/2" X 12 GA GALV. STEEL "~ TWO LAG SCREWS LOCATED ABOVE
a R e Ml A 11°=0"[124" TRACK BRACKETS FASTENED TO VERTICAL/HORIZONTAL TRACK
It MIN B 11'-6"[130" WOOD JAMBS WITH 5/6" X 7/16" 1.D. ROUND JUNCTION.
= 12 -0"1136" 1-5/8" LAG SCREWS NOT TO PUSH NUT 14 GA. GALV. STEEL CENTER HINGE FASTENED TO
S o 12 -6 1142 EXCEED 14" ON-CENTER. FASTENER. SECTION W/(4) EACH #14x5/8" SHEET METAL SCREWS.
m VERTICAL TRACK TO BE BRACKET 15 -0_1148 .
MOUNT, REVERSE ANGLE OR 13'-6"[154" 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8
‘Z’ CONTINUOUS ANGLE (1-3/4" x 14'-0"][160" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
Z 2-1/4"x12 GA MIN.) MOUNT. ALL 14:—6:: 166: 0.075" MIN. THICK VERTICAL 2" TRACK
Q BRACKETS/TRACK CLIPS ARE 12 15-0"]172 5 -
GA. GALV. STEEL. TRACKS ARE 15-6"[178" 2" DIA. 7-1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
ATTACHED TO BRACKETS/CLIPS 16°-0"]184" e
WITH ONE 1/4" BOLT AND NUT. 16'=6"[190" SECTION C-C LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
BRACKETS/CLIPS ATTACHED TO 17'-0"[196" ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
__________ ANGLE WITH TWO 1/4" RIVETS 17'-6"[202" PREPARATION OF JAMBS BY OTHERS. SCREWS. NOTE THAT LHR BRACKETS ARE ALSO
PER BRACKET/CLIP. 18'-0"[208" USED WITH "DOUBLE END STILE" AS NOTED ON
SHEET 2.
) TRACK
3" TRACK CONFIGURATION. LOW HEADROOM_OPTION
JAMB CONFIGUR{\.TION (AVAIL. FOR BOTH 2" AND 3" TRACK)
CENTER HANG REQUIRED FOR FOR DOORS WITH 5 TRACK, T -
NOTE DOUBLE TRACK LOW DOORS OVER 8' HIGH. i
HEADROOM, HI-LIFT TRACK, ‘ N :
FOLLOW-THE~ ROOF 7
TRACK, AND VERTICAL LIFT :,;,)-H _ . 1" DOOR OVERLAP (EACH SIDE) —| |—  OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT).
TRACK ARE AVAILABLE ik 16 GA x 6" x 1-7/8" GALV. STEEL DOUBLE END STILE FASTENED
OPTIONS. . 2x6 SYP JAMB (IF PRESENT; WITH TOG-L-LOC SYSTEM AT TOP, BOTTOM AND CENTER.
TRACK CONFIGURATION 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB NOTES ON SHEET 2). 18 GA. x 2" x 1-7/8" x 3/4" GALV. STEEL INTERMEDIATE
ABOVE THE DOOR OPENING THICKNESS: 0.101". ANGLE THICKNESS: 0.080". HORIZONTAL TRACK W% STILE FASTENED TO DOOR SKIN WITH TOG-L-LOC SYSTEM
DOES NOT AFFECT THE MIN. ANGLE DIMENSIONS 3-1/4" x 2-7/8". SUPPORT BY DOOR N AT TOP, BOTTOM AND EACH MAJOR RIB.
7 ]
WIND' LOAD IRATING, VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING  CTALLER (TO SUM). . " p > |
; 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED
= JUNCTION. TWO 1/4" BOLTS [—— FROM LAST MOUNTING ANGLE. SBE [ BOIT WBURTING &1 TG
5 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION ' EBNECLEATION EEiew i l 18 GA. GALV. STEEL CENTER HINGE
U 1 e %;g rsh?f ROUND FASTENED TO SECTION W/(4) EACH
% WS.
x ADDITIONAL MOUNTING SLOTS FASTENER. %1 4ERyE" SHEET MaiiL IBERENS
SPACED AT 12" CENTERS.
8 W 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
I } TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
_ 12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
5 qi NUT AT EACH MOUNTING SLOT.
,/’”"'—’\ % ’ 3" DIA. 8-1/2" LONG STEM BALL BEARING STEEL ROLLER.
g S L T Q 2 SECTION C-C
f = 34" ONE. %" TRACK BOLT AND NUT AT EACH PREPARATION OF JAMBS BY OTHERS.
& E MOUNTING SLOT LOCATION. L VIGN G JAMBS BY O IERS
o MANUFACTURING PRODUCT CODE:
DOOR | VERTICAL DESIGN LOADS: +25.0, —28.0 PSF e -
, HEIGNT [TRACK LENGTH TEST LOADS: +37.5. —42.0 PSF MPC: C-DSIE-1F 447
22 7-0" | 72 Unless Stated Otherwise | (il 8585 Duke Boulevard CLOPAY WINDLDAD RATING
: 8-0" 84" ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME TOLERANCES ore |\l ﬂlnpay Mason, OH 45040 USA
Z 90" 96’ DISTANCES AS THE TRACK BOLTS (L.E. 3-1/2", 10", 22", 34", it Decits € ok e B \/\/ 4
F 10" 1007 108" 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & G = ddol fREE B ot o L,
; 1200132, 40" FROM BOTTOM. TWO LAG SCREWS ALSO LOCATED ABOVE 0-88 = :882 DESCRIPTION:  MODEL 240/3200/3220 WINDLOAD 20'-2
i's d - > AT 3-1/2 16=0" 180" VERTICAL/HORIZONTAL TRACK JUNCTION. .O'OOO _ :1::001 DRAWN BY: RJH DATE: 2/7/17 |SCALE: NONE DWG.
MARK, WESTERFIELD, “PiE. -~ 7 17 -07[ 204" Degrees = +1/2' —_— T
FLOR'D%‘P:ES‘#%%'A{Q?' ’E‘QQEQV;#23832' 18'-01 228 CLOPAY CORP. Thir.d Angle Unless Stated Otherwise L Ll SHEET ML SIZE
TEXAS PE, #9157 = - ALL RIGHTS RESERVED.| Projection DIMENSIONS ARE IN INCHES.| DWG. NO.: 105198 VER: DI

. : 2 s :




4 3 < 2 1

CLOPAY MODEL 3200, 3220 REVISIONS
HOLMES MODEL 240, 240G REV. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION

00 = = - = SEE REVISION HISTORY ON SHEET 1

THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE STANDARD ASSEMBLY CONSTRUCTION:
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE OPTIONAL LITES WITH DSB OR BETTER GLAZING AVAILABLE. OPTIONAL FULL VISION SECTIONS WITH DSB OR BETTER GLAZING AVAILABLE.
OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE

NOT THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS OR INTERNATIONAL BUILDING CODE BUT DOES NOT MEET THE IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS REGIONS (REF. CHAPTER 16
REGIONS (REF. CHAPTER 16 FBC/IBC) FBC/IBC).

SECTION B—B
(STANDARD GLAZING OPTION) NON—IMPACT—RESISTANT

FULL VISION SECTION OPTION

PANEL ~>‘ '——
THICKNESS

PAN HEAD
SCREW
\ // 7
20
Ve

INSULATED GLASS |
THICKNESS OPTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS AVAILABLE
(178" DSB, 1/8" ACRYLIC, 1/4° WIRE OR BETTER). FULL VISION SECTIONS.
OPTIONAL ACRYLIC IS PLASKOLITE OPTIX, AN APPROVED CC2 PLASTIC IN
COMPLIANCE WITH IBC/FBC 2606.

OUTSIDE
FRAME INSIDE
FRAME
STANDARD ASSEMBLY DETAILS
. G A MANUFACTURING PRODUCT CODE:
ie U DESIGN LOADS: +25.0, —28.0 PSF v Mo =
e \ TEST LOADS: +37.5, —42.0 PSF MPC: C-DSI1E-1F 447
! / ; ‘§ Unless Stated Otherwise - [:I 3585 Dblhe4g8z1(|)evl§lsr2 CLOPAY WINDLOAD RATING
A1) 4 ason,
“ TOLERANCES o | uum WIOPAY 1% 315297024800 \/\/ 4
/e i el 0 = +.031 Building Products Company Fax No. 513-770-4853
%2 74 .00 = *.015 |DESCRIPTION: MODEL 240/3200/3220 WINDLOAD 20'-2"
&L2)F .000 = +.005 /o200
] > .0000 = =+.001 DRAWN BY: RJH DATE: 2/7/17 SCALE: NONE DWG.
MARK WESTERFIELD, P.E. =~ -«v ' .~ Degrees = +1/2° ;o s SIZE
FLORIDA P.E. #48495 “NC-P.E. #23832, CLOPAY CORP. Third Angle Uriiesy Bested Bifsmlss ENECRD o = R
TEXAS P.E. #91513 -~ ... .- = ALL RIGHTS RESERVED.| Projection DIMENSIONS ARE IN INCHES.|DWG. NO.: 105198 VER: TDI

4 3 _~ 2 1




